

मार्केटिंग स्टाफ चाहिए।



पार्ट या फुल टाइम – घर या ऑफिस से काम सकते हैं।

जरूरी सूचना :- आपको किसी भी प्रकार का पेमेंट नहीं करना है। फ्री ट्रेनिंग है।

- ↪ **EXECUTIVE** ₹ **35,800/- pm** (Mob Bill + Traveling Including)
- ↪ **TEAM LEADER** ₹ **86,050/- pm** (Mob Bill + Traveling Including)
- ↪ **MANAGER** ₹ **1,76,300/- pm** (Mob Bill + Traveling Including)
- ↪ **ZONAL MANAGER** ₹ **4,55,300/- pm** (Mob Bill + Traveling Including)

महत्वपूर्ण टिप्पणी : - छोटा और सरल टारगेट बेस वर्क है।
ऑफिस आना जरूरी नहीं है। ऑनलाइन काम कर सकते हैं।



MAA BAMBOO FOREST



EXECUTIVE Salary Table

EXECUTIVE Salary Table								Min 10 Tree	Min 10 Tree	
Sr.	Position	Tree Target PM	1 TO 49 Per Tree ₹	Salary	After 50, Award Per Tree Extra	Tot. Award	Salary + Awd	Mob Recharge	Travelling	Tot. Salary
1	Executive	50	₹ 200/-	₹ 10,000/-	₹ 100/-	₹ 5,000/-	₹ 15,000/-	₹ 300/-	₹ 500/-	₹ 15,800/-

Additional 50 + 50 Target			Extra Award	
Extra Target After 51 to 100	Per Tree + Awd	Sub Tot.	After 100 Tree Buy Any Thing	Tot. + Add. Salary
50	₹ 300/-	₹ 15,000/-	₹ 5,000/-	₹ 35,800/-

EXECUTIVE Salary :- No Basic Salary, Target On Tree.

Basic Tree Target :- 50 Tree x ₹ 200 = ₹ 10,000/-

After Completion 50 Tree Target Get Per Tree ₹ 100/- Extra

50 Tree x ₹ 100 Extra = ₹ 5,000 + ₹ 10,000 Basic Target = ₹ 15,000/-

Plus Extra ₹ 300 Mob Recharge + ₹ 500 Travelling = Total ₹ 15,800/-

Additional 50 + 50 Target :- 50 Tree x ₹ 300 = ₹ 15,000/-

If Any Fulfil Additional Target After Completion 100. Tree Target 50 Tree x ₹ 300 = ₹ 15,000/- Plus Extra Because Additional Target Completion - Downpayment

Buy Any Thing ₹ 5,000 + ₹ 15,000 = ₹ 20,000/-

Basic Target Completion ₹ 15,800/-

Additional Target Completion + ₹ 20,000/-

Total Executive Salary = ₹ 35,800/-



TEAM LEADER Salary Table

TEAM LEADER Salary Table								Min 10 Tree	Min 10 Tree	
Sr.	Position	Tree Target PM	1 To 249 Per Tree ₹	Salary	After 250, Award Per Tree Extra	Tot. Award	Salary + Awd	Mob Recharge	Travelling	Tot. Salary
2	Team Leader	250	₹ 100/-	₹ 25,000/-	₹ 50/-	₹ 12,500/-	₹ 37,500/-	₹ 300/-	₹ 750/-	₹ 38,550/-

Additional Target 250 + 250			Extra Award	
Extra Target After 251 to 499	Per Tree + Awd	Sub Tot.	After 500 Tree Buy Any Thing	Tot. + Add. Salary
250	₹ 150/-	₹ 37,500/-	₹ 10,000/-	₹ 86,050/-

TEAM LEADER Salary :- No Basic Salary, Target On Tree.

Basic Tree Target :- 250 Tree x ₹ 100 = ₹ 25,000/-

After Completion 250 Tree Target Get Per Tree ₹ 50/- Extra

250 Tree x ₹ 50 Extra = ₹ 12,500 + ₹ 25,000 = ₹ 37,500/-

Plus Extra ₹ 300 Mob Recharge + ₹ 750 Travelling = Total ₹ 38,550/-

Additional 250 + 250 Target :- 250 Tree x ₹ 150 = ₹ 37,500/-

If Any Fulfil Additional Target After Completion 250. Tree Target 250 Tree x ₹ 150 = ₹ 37,500/- Plus Extra Because Additional Target Completion - Downpayment

Buy Any Thing ₹ 10,000 + ₹ 37,500 = ₹ 47,500/-

Basic Target Completion ₹ 38,550/-

Additional Target Completion + ₹ 47,500/-

Total Executive Salary = ₹ 86,050/-



MANAGER Salary Table

Sr.	Position	Tree Target PM	1 To 999 Per Tree ₹	Salary	After 1,000, Award Per Tree Extra	Tot. Award	Salary + Awd	Mob Recharge	Travelling	Tot. Salary
3	Manager	1,000	₹ 50/-	₹ 50,000/-	₹ 25/-	₹ 25,000/-	₹ 75,000/-	₹ 300/-	₹ 1,000/-	₹ 76,300/-

Additional Target 1,000 + 1,000			Extra Award	
Extra Target After 1,000 To 1,999	Per Tree + Awd	Sub Tot.	After 2,000 Tree Buy Any Thing	Tot. + Add. Salary
1,000	₹ 75/-	₹ 75,000/-	₹ 25,000/-	₹ 1,76,300/-

MANAGER Salary :- No Basic Salary, Target On Tree.

Basic Tree Target :- 1000 Tree x ₹ 50 = ₹ 50,000/-

After Completion 1000 Tree Target Get Per Tree ₹ 25/- Extra

1000 Tree x ₹ 25 = ₹ 25,000 + ₹ 50,000 = ₹ 75,000/-

Plus Extra ₹ 300 Mob Recharge + ₹ 1,000 Travelling = Total ₹ 76,300/-

Additional Target :- 1000 Tree x ₹ 75 = ₹ 75,000/-

If Any Fulfil Additional Target After Completion 1000. Tree Target 1000 Tree x ₹ 75 = ₹ 75,000/- Plus Extra Because Additional Target Completion - Downpayment Buy Any Thing ₹ 25,000 + ₹ 75,000 = ₹ 1,00,000/-

Basic Target Completion ₹ 76,300/-

Additional Target Completion + ₹ 1,00,000/-

Total Executive Salary = ₹ 1,76,300/-

* Condition Apply



ZONAL MANAGER Salary Table

ZONAL MANAGER Salary Table								Min 10 Tree	Min 10 Tree	
Sr.	Position	Tree Target PM	1 To 3,999 Per Tree ₹	Salary	After 4000, Award Per Tree Extra	Tot. Award	Salary + Awd	Mob Recharge	Travelling	Tot. Salary
4	Zonal Manager	4,000	₹ 25/-	₹ 1,00,000/-	₹ 25/-	₹ 1,00,000/-	₹ 2,00,000/-	₹ 300/-	₹ 5,000/-	₹ 2,05,300/-

Additional Target 4,000 + 4,000			Extra Award	
Extra Target After 4,001 to 7,999	Per Tree + Awd	Sub Tot.	After 8,000, Tree Buy Any Thing	Tot. + Add. Salary
4,000	₹ 50/-	₹ 2,00,000/-	₹ 50,000/-	₹ 4,55,300/-

ZONAL MANAGER Salary :- No Basic Salary, Target On Tree.

Basic Tree Target :- 4000 Tree x ₹ 25 = ₹ 1,00,000/-

After Completion 4000 Tree Target Get Per Tree ₹ 25/- Extra

4000 Tree x ₹ 25 Extra = ₹ 1,00,000 + ₹ 1,00,000 = ₹ 2,00,000/-

Plus Extra ₹ 300 Mob Recharge + ₹ 5,000 Travelling = Total ₹ 2,05,300/-

Additional Target :- 4000 Tree x ₹ 50 = ₹ 2,00,000/-

If Any Fulfil Additional Target After Completion 4000. Tree Target 4000 Tree x ₹ 50 = ₹ 2,00,000/- Plus Extra Because Additional Target Completion - Downpayment Buy Any

Thing ₹ 50,000 + ₹ 2,00,000 = ₹ 2,50,000/-

Basic Target Completion ₹ 2,05,300/-

Additional Target Completion + ₹ 2,50,000/-

Total Executive Salary = ₹ 4,55,300/-



Salary Table

Salary Table								Min 10 Tree	Min 10 Tree		Additional Target			Extra Award	
Sr.	Position	Tree Target PM	Per Tree ₹	Salary	After 50, Award Per Tree Extra	Tot. Award	Salary + Awd	Mob Recharge	Travelling	Tot. Salary	Extra Target After 51to 99	Per Tree + Awd	Sub Tot.	DP - Buy Any Thing	Tot. + Add. Salary
1	Executive	50	₹ 200/-	₹ 10,000/-	₹ 100/-	₹ 5,000/-	₹ 15,000/-	₹ 300/-	₹ 500/-	₹ 15,800/-	50	₹ 300/-	₹ 15,000/-	₹ 5,000/-	₹ 35,800/-
2	Team Leader	250	₹ 100/-	₹ 25,000/-	₹ 50/-	₹ 12,500/-	₹ 37,500/-	₹ 300/-	₹ 750/-	₹ 38,550/-	250	₹ 150/-	₹ 37,500	₹ 10,000/-	₹ 86,050/-
3	Manager	1,000	₹ 50/-	₹ 50,000/-	₹ 25/-	₹ 25,000/-	₹ 75,000/-	₹ 300/-	₹ 1,000/-	₹ 76,300/-	1,000	₹ 75/-	₹ 75,000/-	₹ 25,000/-	₹ 1,76,300/-
4	Zonal Manager	4,000	₹ 25/-	₹ 1,00,000/-	₹ 25/-	₹ 1,00,000/-	₹ 2,00,000/-	₹ 300/-	₹ 5,000/-	₹ 2,05,300/-	4,000	₹ 50/-	₹ 2,00,000/-	₹ 50,000/-	₹ 4,55,300/-
5	City Head	16,667	₹ 15/-	₹ 2,50,000/-	₹ 15/-	₹ 2,50,000/-	₹ 5,00,000/-	₹ 300/-	₹ 7,500/-	₹ 5,07,800/-	16,667	₹ 30/-	₹ 5,00,010/-	₹ 1,00,000/-	₹ 7,53,450/-
6	State Head	50,000	₹ 8/-	₹ 4,00,000/-	₹ 8/-	₹ 4,00,000/-	₹ 8,00,000/-	₹ 300/-	₹ 10,000/-	₹ 8,10,300/-	50,000	₹ 16/-	₹ 8,00,000/-	₹ 2,00,000/-	₹ 14,71,100/-
7	Country Head	1,00,000	₹ 5/-	₹ 5,00,000/-	₹ 5/-	₹ 5,00,000/-	₹ 10,00,000/-	₹ 300/-	₹ 25,000/-	₹ 10,25,300/-	1,00,000	₹ 10/-	₹ 10,00,000/-	₹ 4,00,000/-	₹ 28,56,150/-
8	Fix Per Month	50,000		₹ 2,50,000/-											



MAA BAMBOO FOREST

Contact : (Call & WhatsApp)

99679 76779

93266 22531

Office Time :- Morning 10 Am to Evening 7 Pm

Website :- www.maabamboo.com. E-mail :- maabambooforest@gmail.com.